Fliers from Thursday T-shirt data

o All fliers from the Thursday T-shirt data are plotted (>2 sigma)

» Corresponding sum and difference samples are shown

» Both position fliers and charge fliers appear
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G-1000 Feedback off

Position (microns)

Flier B1 = 1.0115 sigma, B2 = 2.492 sigma, B3 = 2.4123 sigma
ZV7X = 0.22, Gain = -1000, Feedback Off
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Flier B1 = 3.015 sigma, B2 = 0.85466 sigma, B3 = 1.4141 sigma
ZV7X = 0.245, Gain = -1000, Feedback Off

Paosition (microns)

ADC counts

Flier B1 = 0.29962 sigma, B2 = 2.0134 sigma, B3 = 1.6144 sigma
ZN7X = 0.245, Gain = -1000, Feedback Off
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250

Flier B1 = 2.2206 sigma, B2 = 1.4977 sigma, B3 = 1.0509 sigma
ZV7X = 0.295, Gain = -1000, Feedback Off
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G-1000 Feedback off

Position (microns)

ADC counts

-100 - -
-150 - -
=200

-100*

Flier B1 = 1.0365 sigma, B2 = 3.0136 sigma, B3 =0.63321 sigma

ZV7X = 0.32, Gain = -1000, Feedback Off
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250
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Flier B1 = 2.3613 sigma, B2 = 0.10138 sigma, B3 = 0.99927 sigma
ZV7X = 0.38, Gain = -1000, Feedback Off
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G-1000 Feedback on

Flier B1 = 0.56891 sigma, B2 = 0.032001 sigma, B3 = 2.6248 sigma

ZVT7X = 0.245, Gain = -1000, Feedback On
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Flier B1 = 1.2499 sigma, B2 = 1.2222 sigma, B3 = 2.0243 sigma

ZVT7X = 0.295, Gain = -1000, Feedback On
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Position (microns)
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Flier B1 = 0.63297 sigma, B2 = 2.3973 sigma, B3 = 0.44892 sigma
’s0 ZV7X = 0.245, Gain = -1000, Feedback On
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Flier B1 = 0.66299 sigma, B2 = 0.57342 sigma, B3 = 2.0247 sigma

ZVT7X = 0.295, Gain = -1000, Feedback On
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G-1000 Feedback on

Flier B1 = 0.24797 sigma, B2 = 0.54324 sigma, B3 = 2.755 sigma

ZVT7X =0.32, Gain = -1000, Feedback On
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G-1500 Feedback off

Flier B1 = 1.1765 sigma, B2 = 2.3119 sigma, B3 = 2.3199 sigma
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ZVT7X = 0.22, Gain = -1500, Feedback Off
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Flier B1 = 0.11478 sigma, B2 =2.0301 sigma, B3 = 0.86027 sigma
ZV7X = 0.245, Gain = -1500, Feedback Off
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250

Flier B1 = 1.213 sigma, B2 = 1.2644 sigma, B3 = 2.1073 sigma
ZV7X = 0.245, Gain = -1500, Feedback Off
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Flier B1 = 2.2455 sigma, B2 = 0.2627 sigma, B3 = 0.22247 sigma

ZVT7X = 0.245, Gain = -1500, Feedback Off
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G-1500 Feedback off

Flier B1 = 1.3878 sigma, B2 =2.2297 sigma, B3 = 1.2975 sigma
ZV7X = 0.27, Gain = -1500, Feedback Off
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Flier B1 = 2.3272 sigma, B2 =0.3292 sigma, B3 =2.1771 sigma
ZV7X = 0.32, Gain = -1500, Feedback Off
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Flier B1 = 0.17764 sigma, B2 = 2.9132 sigma, B3 =0.91112 sigma

ZV7X =0.32, Gain = -1500, Feedback Off
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Flier B1 = 2.2006 sigma, B2 = 0.23537 sigma, B3 =0.14139 sigma

ZV7X = 0.35, Gain = -1500, Feedback Off
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G-1500 Feedback off

Flier B1 = 2.5062 sigma, B2 = 1.0307 sigma, B3 = 1.4751 sigma

ZV7X = 0.38, Gain = -1500, Feedback Off
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G-1500 Feedback on

Flier B1 = 1.8733 sigma, B2 =2.1272 sigma, B3 = 1.5007 sigma
ZV7X = 0.22, Gain = -1500, Feedback On
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Flier B1 = 2.2498 sigma, B2 = 0.6557 sigma, B3 = 0.31869 sigma

ZV7X =0.27, Gain = -1500, Feedback On
250

Position (microns)

ADC counts

Flier B1 = 0.84693 sigma, B2 = 2.5586 sigma, B3 = 0.35262 sigma
Z\7X = 0.245, Gain = -1500, Feedback On
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Flier B1 = 0.95553 sigma, B2 = 2.3713 sigma, B3 = 0.41866 sigma

ZV7X = 0.27, Gain = -1500, Feedback On
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G-1500 Feedback on

Flier B1 = 0.46096 sigma, B2 = 0.45581 sigma, B3 =2.9931 sigma
ZV7X = 0.27, Gain = -1500, Feedback On
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-100

Flier B1 = 0.28801 sigma, B2 = 0.13656 sigma, B3 = 2.4867 sigma
’s0 ZV7X = 0.295, Gain = -1500, Feedback On
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Flier B1 = 2.2992 sigma, B2 = 2.0533 sigma, B3 = 0.58652 sigma

ZVT7X = 0.295, Gain = -1500, Feedback On
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-200*

Flier B1 = 2.1468 sigma, B2 = 1.0405 sigma, B3 = 1.2376 sigma

ZVT7X = 0.32, Gain = -1500, Feedback On
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G-1500 Feedback on

250

200}
150 ¢
100+

Paosition (microns)

600

ADC counts

-200

Flier B1 = 1.7673 sigma, B2 = 2.067 sigma, B3 = 1.4486 sigma

ZVT7X = 0.38, Gain = -1500, Feedback On
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G-1700 Feedback off

Flier B1 = 2.6725 sigma, B2 =0.35525 sigma, B3 = 3.1163 sigma
ZV7X = 0.22, Gain = -1700, Feedback Off

250‘
200+
150 -
100+
50+
o
50
-100 ¢
150+
=200"

Position (microns)

227
215
21}

205

ADC counts

20+

18.5;

1 2 3
Bunch #
Corresponding sum and difference signals

Difference
Sum

1 2 3
Bunch #

250

Flier B1 = 0.6811 sigma, B2 = 1.9678 sigma, B3 = 2.3151 sigma
ZV7X = 0.245, Gain = -1700, Feedback Off
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Flier B1 = 1.9473 sigma, B2 = 3.1099 sigma, B3 = 0.88657 sigma
ZV7X = 0.22, Gain = -1700, Feedback Off

250
200
150
100

50

-50

22

21

18

2
Bunch #

Corresponding sum and difference signals
' Difference|
Sum

1 2 3
Bunch #

200+
150 -
100+
50+

501
-100 -
-150 -

Position (microns)

-200

500

1 2 3
Bunch #

Corresponding sum and difference signals

400 -

300+

ADC counts

200}

100°

Difference
Sum

2
Bunch #

Position (microns)

ADC counts

250

Flier B1 = 0.40676 sigma, B2 = 1.8738 sigma, B3 = 2.333 sigma
ZVTX = 0.27, Gain = -1700, Feedback Off
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G-1700 Feedback off

Position (microns)

ADC counts

-100 - ~
=150+
=200

-200

Flier B1 = 2.2251 sigma, B2 =0.96473 sigma, B3 = 1.042 sigma

ZV7X = 0.35, Gain = -1700, Feedback Off
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-400 "

Flier B1 = 0.57173 sigma, B2 = 2.0632 sigma, B3 = 2.0834 sigma
Z\7X = 0.38, Gain = -1700, Feedback Off
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G-1700 Feedback on

Flier B1 = 2.032 sigma, B2 = 2.1645 sigma, B3 = 0.74882 sigma
ZV7X = 0.22, Gain = -1700, Feedback On
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Flier B1 = 2.0702 sigma, B2 = 1.9198 sigma, B3 = 0.60671 sigma
ZVT7X = 0.245, Gain = -1700, Feedback On
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Flier B1 = 1.3651 sigma, B2 = 0.77262 sigma, B3 = 2.2247 sigma

ZV7X =0.27, Gain = -1700, Feedback On
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Flier B1 = 1.0583 sigma, B2 = 2.9949 sigma, B3 = 2.9539 sigma

ZV7X = 0.32, Gain = -1700, Feedback On
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G-1700 Feedback on
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Flier B1 = 2.343 sigma, B2 = 1.3939 sigma, B3 = 1.9579 sigma
ZVTX = 0.38, Gain = -1700, Feedback On
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